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The first sfeps are Ho label [oo’_)
corrents (1o allowr solutiow ba H1la [0
W\L'\’L\od) and 1o Jaled cacl eclewmeat witlh +/-
sijw) ( so we can talle aboul brauch currouts,
\/qu]eS).

Nexf, we wvite KvVL around eacl }oop wortl
U Knowd v cuvread, This can be ooz

”by Jns /DCC‘HD"

4'4? (’erf /?z+p3> La - Rg_.l:b = — Ra1T¢
. | + V3
Cy: - Rz ta+ (R3+Ry+RsJt = —R4TI¢

P/U77i.4] /t Va[U?S} coe hoaue +L*4+

3 Lq - 37’“&; = -7

-3ta + 7 ‘:'o = — |5
This 2x 2 set of *) ua-Ho:-»s cau Le SOIM
by Cramer’s ruls, etc., o pbtaty
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C‘.q':-"ZA
Ly = -3 4

—

Tha bravnch courreanly are JuS% ' Ha aljéé/qiL
Sum of /OoID cyrrets :

L':-“"-q: ‘ZA

C.z = ‘Lq-}I(: 3A

Z3=Lq- ce = | A
dq: "6 + I,= 2 A
LIS"“:: (:5:"'3A

C‘é: I‘: SA

27: _Lq._-ZA

Tha Vol‘{a]es are -Q)qp\d 6(7 4}9}9[7(‘1{? ’}L\:- LO"!S'H',‘UJ’JUQ

lacds

V=R = -6V
U,=t12R,= 6V
U3z tyRy = 3V
Uy ¢yRy = 6V
Vs 2 t¢Rg= =3V
Vy, 2 Vy = 3V

13
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pALVINg

Note +hat He cougtitotive /md' for Ha curreat
Source, , |
o = Ig , for adl V¢

gives n ‘;474.%«4;0” alowt V. To Aiad
Ve 9 aPP’j KVL around I¢ /c§/9:

—'U—H“U; —"Uz = 0

_—__'7 Y}Z = - —U-Z —-'U_I*
= — |2V .
['Uﬁ(, = -2V {

of Course these valyes quea a.m-H« these of
S3.




